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QUESTION 1

Which two are prerequisites for enabling Automatic Block Media Recovery in a Data Guard environment consisting of a
primary database, one physical standby database and one logical standby database? 

A. FLASHBACK DATABASE must be enabled on the physical standby database. 

B. There must be connectivity between the primary and the physical standby database. 

C. FLASHBACK DATABASE must be enabled on the primary database. 

D. The physical standby database must have Real-Time Apply enabled. 

E. The logical standby database must have Real-Time Query enabled 

Correct Answer: CD 

 

QUESTION 2

Which two are true concerning the configuring of Flashback database in a Data Guard environment? (Choose two.) 

A. It enables the use of far sync instances. 

B. It is a prerequisite for the use of Fast Start Failover. 

C. It permits a primary database that was disabled after failover to be reinstated as a standby. 

D. It permits a physical standby database to be converted to a snapshot standby database. 

E. It is required in order for a snapshot standby database to be converted to a physical database. 

Correct Answer: AB 

References: 

https://docs.oracle.com/database/121/SBYDB/create_fs.htm#SBYDB5416 

https://logicalread.com/2013/10/01/increasing-oracle-availability-with-fast-start-failover-mc04/ 

 

QUESTION 3

The Oracle database 12c Observer is currently running on host1 and you wish to have it running on host2. 

Examine this list of possible steps: 

1) Stop the observer on host1. 

2) Disable Fast-Start Failover. 

3) Update the broker configuration with the new observer hostname. 
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4) Enable Fast-Start Failover. 

5) Start the Observer on host2. 

Which contains the minimum required steps to move the observer to host2? 

A. Execute only task 5. 

B. Execute tasks 1, 3, and 5. 

C. Execute tasks 1, 2, 3, 4, and 5. 

D. Execute tasks 1 and 5. 

Correct Answer: D 

 

QUESTION 4

You must design an Oracle Data Guard configuration for an OLTP database that meets these permanent requirements: 

1. 

Data loss is not permitted. 

2. 

Read-only applications should not connect to the primary database instance. Additionally, there are these requirements,
only one of which is ever done at any one time: 

1. 

It should be possible to apply designated patches with a minimum amount of downtime. 

2. 

Upgrading to a new database release should be performed with the least possible amount of downtime. 

3. 

New application software releases should be tested against an exact and up-to-date replica of the primary database. 

Which configuration meets these requirements with the fewest databases? 

A. a primary database with three physical standby databases 

B. a primary database with one logical and two physical standby databases 

C. a primary database with one logical standby database 

D. a primary database with one logical and one physical standby database 

E. a primary database with two physical standby databases 

F. a primary database with one physical standby database 
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Correct Answer: D 

 

QUESTION 5

Which two statements are true about Real-Time Query? 

A. Setting STANDBY_MAX_DATA_DELAY =0 requires synchronous redo transport. 

B. Disabling Real-Time Query prevents the automatic start of redo apply when a physical standby database is opened
READ ONLY. 

C. Real-Time Query sessions can be connected to a Far Sync instance. 

D. Real-Time Query has no limitations regarding the protection level of the Data Guard environment. 

E. A standby database enabled for Real-Time Query cannot be the Fast-Start Failover target of the Data Guard
configuration. 

Correct Answer: BD 
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